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A

vide the missing starling materials, reagents, or products for the following reactions.
roduct will result, show both the major and minor products. Carefully show the

NAME

If

H
l__‘i r?]‘r"
{:TJF“'J":,:I
B.
OH ? Gl 1\_\(;}
C.
QH /
N - =) ﬁﬂ_n_ﬂ Q‘}_Ml /%ﬁ“i
L.
Ingfn~oCl 4+ NaCN ——= 7 T
H,-;:."*m-"w CN
E.

113
MaH
o ?
SH
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(20 paintsd All of the staming marecials shawn helow are opacally active. Provide the missing
prodoen s} for the reuctens given. Indicate whether the products will be chiral or achiral. I the
products are chiral, indicare whether they will ke apticallv active or racemic. If more than one
compound will be generated, indicale the relationship between the products created (structural isomers.,
dizserenmers, enanfiomers, o oene of the abovel.
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1 (3 paints) For the twao pares helow, make certain that vour structuras ane neacy drawn and anatemivally
carrect.

Al Of 1he ten diasteragmers shown below, which 13 the more stable? Utilizing appropriate
drawings, YERY BRIEFLY explain your reasoning,
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13
B. O the two isomers shown below. which is the more reactive with KOs-Bu? Utilizing appropriate
drawings, VERY BRIEFLY explain your reasoning.
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i 20 pones) Usimg the amow farmalism, deaw a decailad, stepwise mechanism for the Following

Iranslommnaticn.
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015 peantsl Consider zhe following diagram that cutlines the veaction progress for a hyvpothernivi
TEICTIOR!

where A is the starting material. B and € are intermediates along the reaction pathway, and D is the rinal

T

privduct, '_l'—g

Reaction Progress ——

Carefully label the positons of A through I} on the diagram.

Carefully label the positions of each rransition state with an arrow and “T5"
Carefully label each energy of aclivation.

Carefully label the Gibbs [ree enzrgy for the reaction.

Is this reaction exergonic or endergonic? Exer SRR
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What is the rate-determining step for the process? ‘ii]j —A
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